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FEXEER | EFA | MEER | MR | E@IA et
T HE 1 ZOl5 X 1 P
T 8 2018 4 1 S=1o3t
T HE 8 MOLF X 1 S=1io it

A G 1 ERO3E Z 1 S=1o3t
i 7 MO X 1 P
L 1 s&OFY X 1 =103t
i 3 ROF X 1 P
T 8 ATOH 4 1 =gt
T HE 8 aTOBX 4 1 S0t
R 5 RO X 1 =103t
T HE 8 RO 4 1 S0t
T 8 fROZ X 1 =103t
i 2 9 RO 4 1 S0t
i 2 =08 X 1 =13t
Bz 2 %50A X 1 S0t
2R 1 %50ER X 1 =13t
T 6 (7 ]O)E X 1 S0t
i 8 =0k X 1 %
i 1 LGS %4 1 S0t
i 3 FOR X 1 %
i 7 Ea0 X 1 S0t
i 3 £ HOLES X 1 %
T 8 FORK 5 1 S0t
i 8 T O:E 5 1 =103t
i 6 ZFO8f 5 1 =103t
ki 1 MOx 5 1 %
i 8 MO 5 1 =103t
i 8 E3OF)] 5 1 %
i 8 570 5 1 =103t
& A 1 ZOE 5 1 %
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B2 2 tHO2 X 2
738 1 MOL 4 2
=2 1 RO X 2
i 1 =0% 4 2
L 2 &wOE X 2
= 1 ZROHH 4 2
R 1 EON X 2
HE 2 MOE 4 2
HE 4 2P0 X 2
R 6 BRO% X 2
&K 2 BROZ X 2
T 4 ZO¥ X 2
i 4 FO;% 4 2
= 5 EZ1O) X 2
B2 1 MOF 5 2
R 1 =016 3 2
W 2 EAOHL 5 2
H 3 MOFE 3 2
W 3 MOZE 5 2
H 4 EO1E 5 2
W 4 =0F 5 2
H 4 st OF)] 3 2
W 4 ZZORl 5 2
H 4 =018 5 2
HE 5 5RO 5 2
HE 5 GO 5 2
HE 6 =0i= 5 2
HE 6 ] O3F 5 2
HE 6 BROF 5 2
HE 6 O 5 2
T 2 5ROF)] 5 2
T 6 HORE 5 2
i 1 5RO 5 2
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D 1 H OB X 3
TH 2 Fr O 4 3
L 2 FOZR X 3
i 3 =2OF S 4 3
R BEOLF X 3
¥ 1 TOH 4 3
M= 2 BRO/N X 3
HE 2 =0 4 3
HE 2 5O 4 3
R 4 ZF0f2 X 3
HE 4 =04l 4 3
R 5 =On X 3
HE 5 FO=E 4 3
R 6 MOE Z 3
HE 6 5RO X 3
T 1 MO K 3
T 1 [OF=] X 3
i 2 H OZ= X 3
= 3 BROIZ X 3
e 4 BOZE X 3
= 5 EOF X 3
e 5 =08 X 3
D 2 HROZR 5 3
H 2 RO 3 3
HE 3 BROZE 5 3
HE 4 EOHE 5 3
HE 6 RO¥ 5 3
T 1 5RO 5 3
I 1 =0% 5 3
T 3 #1015 5 3
T 4 MOE 5 3
15 A 1 #OX 5 3
E&K 2 Ok 5 3
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KR 1 210 X 4
i 1 =0 4 4
=) 1 EOM X 4
HE 1 BROXR 4 4
HE 1 =01 X 4
HE 2 =05 4 4
HE 3 TO=E X 4
HE 3 TORE 4 4
HE 5 ZEO0n 4 4
R 7 =0%# X 4
T 2 05 4 4
T 5 sROHffT X 4
T 6 0= 4 4
(] 2 #FO1X X 4
&K 4 =0~ 4 4
i 2 sROZ] 3 4
)2 1 rTOMH 5 4
L 1 F0% 3 4
W 1 =0F 5 4
H 5 E[0)=] 3 4
W 5 BROZE 5 4
H 5 FOR 5 4
W 6 RO 5 4
T 4 T O 3 4
T 7 BRO1A 5 4
15 1 =0 5 4
i) 1 MO=E 5 4
= 2 F0O= 5 4
i) 3 = Ok 5 4
= 3 BOM 5 4
£ 1 FOF 5 4
15 A 1 RO 5 4
E&K 2 =08 5 4
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=l 1 5O%F X 5
=l 1 B OFF 4 5
BEE 1 MO& X 5
=g 1 0= 4 5
HE 3 B Ofie X 5
HE 3 =0% 4 5
HE 4 iz[@F) X 5
HE 6 == 0)ii] 4 5
T 2 =08 4 5
T 2 ATO3H X 5
T 4 Z10)i8 4 5
T 7 ROE X 5
T 8 ROEf 4 5
= 3 =0 X 5
i 4 T LOt 4 5
= 7 BHOHS X 5

= 1 =20} 5 5
F ¥ 1 FBOMC 5 5
BEE 2 O] 5 5
= 2 ZIOE 3 5
W 1 =07F 5 5
H 2 %8 Ol 3 5
W 3 EORE 5 5
H 3 =0% 3 5
HE 3 =08 5 5
HE 4 =01 5 5
HE 5 BROZZ 5 5
HE 5 FEOZK 5 5
i 1 EAO## 5 5
= 5 =0= 5 5
i) 6 MOF 5 5
= 6 #FOZ 5 5
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T 7 TOs* X 6 EES
HE 7 =0 4 6 BN
T 2R 4 Q% X 6 EE3
= 6 0= 4 6 BN
HE 7 MOR 5 6 EES
T 6 RO 5 6 BN
DA 1 ZFORR X 6
B2 2 2lox 4 6
F ¥ 1 SO 4 6
¥ 1 =0= X 6
F ¥ 1 =0 4 6
= 1 MO3Z X 6
HE 3 MO 4 6
R 4 oL X 6
T 4 TOB X 6
R 4 HOX X 6
T 4 5Ot X 6
T 8 BROBR X 6
= 5 Ota X 6
Gitkiil 1 MOIE 5 6
W 1 #OZZ 5 6
H 1 BROZ 5 6
W 1 ROF 5 6
H 1 RO 5 6
HE 2 5RO 5 6
HE 6 ([e)= 5 6
T 1 MON, 5 6
T 2 TOXE 5 6
HriE Z =01t 5 6
T 7 MOx 5 6
i) 1 2O 5 6
= 5 MOE] 5 6
= 6 Z0¥& 5 6
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D 1 RO03% X 7
HE 1 =0% 4 7
HE 1 A OR X 7
HE 1 Z20= 4 7
HE 1 L0} X 7
HE 2 FOX 4 7
HE 2 EROfY X 7
HE 3 FOH 4 7
HE 4 BROE X 7
R 4 F0O1= X 7
HE 5 sROER 4 7
R 6 MO= X 7
T 5 EBOe 4 7
T 5 =0H X 7
T 5 BROE) 4 7
T 8 HOLE X 7
= 1 =O%F X 7
i 3 22038 Y 7
= 3 HO%F X 7
e 6 =T O#h X 7
D 1 ZROJE 5 7
DA 2 FOE 5 7
F ¥ 1 MOR 5 7
H 1 O 5 7
HE 1 FOSF 5 7
HE 3 TO%E 5 7
HE 4 sROR 5 7
HE 4 Z O3 5 7
I 2 20 5 7
T 8 ROE 5 7
i) 1 ZOkE 5 7
= 3 BROIE 5 7
= 3 BROB 5 7
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k-4=: 3 MORL X 8 FLI=Pou
T 3 MO 4 8 =P
k-4=: 3 B0 X 8 FLI=Pou
5L 1 BROFT 4 8 FLI=Po
T HE 8 BROGE X 8 FLI=Pou
5L 1 HOE X 8 =P
k-4=: 3 #F O X 8 FLI=Pou
T 3 TOE 5 8 =P
T 2 FROE 5 8 FLI =P
T 4 =072 3 8 Re B
W= 2 =01k 5 8 FLI =P
BN 1 =0)-i 3 8 R B
W= 1 ROZR 5 8 FLI =P
R 6 sROM 3 8 Re BT
W= 2 BROZR 5 8 FLI =P
m¥ 1 BROM 3 8 R BT
i 1 =0X 5 8 FEI=Po
i 3 BOms 3 8 R B
=) 5 2O 5 8 FEI=Po
i 2 A [O)E 5 8 R B
i 2 =07F 5 8 FEI=Po




